@ Teachingninja.in

W Latest Govt Job updates
* P e’ Job updates
* Free Mock tests available

Visit - teachingninja.in

(& Teachingninia.in


www.teachingninja.in

9/14/2018

RAILWAY RECRUITMENT BOARDS
e wdt A

RRB ALP & TECHNICIANS 2018

[Roll No:

Participants Name:

Test Center Name: iON Digital Zone iDZ Teenpani
Test Date: 21/08/2018

Test Time: 10:00 AM - 11:00 AM

Subject: ALP Technicians

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 8% 9y ¥ AR sors A X W FARFT T x W 5 a9 & &= 3d7 & ¢
e @ 7.5% wuror s eorsr &7 W 6 I9f & AT e w3y =
Xx: y ¥ Hi

x invested at 8% simple interest per annum for 5 years yields the same interest as that on
3y invested at 7.5% simple interest per annum for 6 vears. Find x : v.

Ans 1.9 : 8
<25:6
<316 : 15
X440 : 45

Q2 2016 3ot FTw ves faoar onh afos FE T o P
The 2016 Olympics bronze medallist Sakshi Malik hails from which state?

Ans 4 m

Q3 ©ie F TF U] A, FEISA F FeAAA HR FEFHSA & FEAAA F HeTAT
A TFEAT BT &

In a water molecule, the ratio of mass of Hydrogen to the mass of Oxygen is always:
Ans X 1.7:1
X 2.8:1
X317
V18
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Q4

Ans

3 fadeT &1 99 H{ S & TS Y@ar H T FLT ¢

UEs, TF,,SGg,RH3,
Select the correct option that will complete the given series.
UE;, TF,,SGg,RH,,

X 1Ql

X 2.Ql

v'3.Ql

X 4 Qlg

Q5

Ans

Tfe FE=AT 14562, 9 TART T &, A x F AT fFaer gem?
If the number x4562 is divisible by 9, what is the face value of x?

X12
X23
v
X4

Q6

Ans

37 el Rweq 7 g St ewfaf@a s@er #t @ Fem

4, 8, 12, 24, 18, ?
Choose the correct alternative which will complete the following series.

4,8,12,24,18,2
v 136
X227
X372
X 454

Q.7

Ans

afg 23 X 19 =437 g dr 0.0437 =19 =?
23 X 19 = 437. How much is 0.0437 < 1.9 =?
< 1.0.0023
X223
V'3 0.023
X 40.23

Ans

150 #frex 3R 130 #eT @< & &= v g@ & Ralia Rer 7 v g¥ 72
¥Fs H UH A A IR F A ¢ gar AT S At S aeT Sie o fhaer
e

Two trains, one 150 m long and the other 130 m long, coming from opposite directions
crossed each other in 7.2 seconds. The sum of speed of the two trains every hour would

then be:
x 1,105 FreAEeT
105 km
70 frettdeT
70 km

X 2.
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x 5 280 e
280 km
140 fpaaex
140 km

v

Q9 i & el wHg @ A FpiAAT F T 82

T S| F

1 2 3 B
Select the figure which does NOT belong to the group.

T[S W]

1 P 3 4
Ans X13

x24

V31

X42

Q.10 e WrE aFg, FoEa 7Fa 31,200 &, & 15 % @1fey o1 3 e §1 o Aew & 3
§ % T A 2. 7 g T Ao w 2w g

A defective piece of article which costs T 1200 is being sold at a loss at 15%. Ifthe price
is further reduced by 5%, find the S.P?

Ans X 1. 1000
v 2T 969
X 3.7 960
X 4.T 990

- e— —

Q.11 1o 36 Aciel A 15% o i I 9T | SR qT FHT e T 14,030 F1 IHHT el Il
rdar ar
Tanya got an increment of 15% in her salary. If her enhanced salary is ¥ 14,030. What was

her original salary?
Ans X 1.¥ 12,400
< 2.312,000
X 312,300
v ©T12,200

Q121 ¥ 100 (=t wiEwfoT) T Wl TE3it &1 AT fvgar gem?

The sum of numbers from 1 to 100 (inclusive of both) is

Ans 1. 5500
X 2. 5505
v 3. 5050
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X 4.5005

B3 CeHy T G FESHaT ZATar & |
The formula CsHy4 represents the hydrocarbon
Ans m;‘-
X1
Hexene
v Ry
Hexane
. Hexyne
X a. ! i

Heptyne

X3

Q1A ey # ¥ FiF @1 O, 57 Tt H W 30T &2

Which of the following solutions is the most acidic among them all?

Ans " pH AT 0 arer ot
Solution with pH value 0

N pH AT 1 Jrer oier
Solution with pH value 1

3pHnmsamTu’l?»r

X

X
Solution with pH value 6
x4 pH AT 7 drem el
Solution with pH value 7

Q15 #=r R & e v & AT 39gaa BT & w37 9 & et 7 & =4

A
AN

Select the option that fits in the blank space in the following figure.

Ans
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X a.

SN
AN

Q.16 e 939t F & el &Y, R @ret & @ e 9 3N 18 9 F 5T FHA 8,
SafF @Y @R &Y ¥F F 15 9 F @l A o wehar 1 3 ¥ T 2
) afe @ fiat aeT F @en ST € a EF A g & 9 a7 srem?

Out of three pipes the first two can fill an empty tank in 9 and 18 hours, respectively while
the third can drain the filled tank in 15 hours. If all the three pipes are opened when the
tank is empty. after how many hours will the tank be full?

Ans o110
X212
X311
X413

Q17 gfE tana =2+ 1,8 & tana— cota T AT FIAT FM?
Iftana =2 + 1, then the value of tano — cota is:
ans X151
V22
x31
X 4.9\2

Q.18 10 it T=Tet AT FEHT T TR Teh SHETHIA T T2 AT G@RT 327 a1 7t &
Work done by a passenger standing on a platform holding a suitcase weighing10 kg is:

Ans X 1.100 J
v207
<3087
X 49807

Q19 5184 T FHS AT 82

The square root of 5184 is:
Ans o 172
<282
X374
X 4.76

Q.20
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T W AAEE AR FY A 3w SR W w A R A st F
¥ = wa 3w PR

as:
TS AT ST A Vv @ gl ‘3@ e gemsiy

HegAT:
1. ¥Aw & 9ar § B Fg HR B o e geE 7
2. BT TSI FT AT TeAA AT 1T gl

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
An army general said ‘Shoot Now” to the soldier.

Assumptions:

1. The soldier knows where and what to shoot.
2. The army general doesn’t know to shoot.

s A 1 AT &
Only assumption 1 is implicit.
|1 3R 2 g=r fafga g
Both 1 and 2 are implicit.
SHWWszﬁFh

Only assumption 2 is implicit.

4amtaazﬁ%ﬁ

Neither 1 nor 2 is implicit.

v

X

x

X

Q.21 = wefdia a7 3MW & HFWR ‘Big Clever Parrot’ r 37 ghem-

Ans

>O3

>O0

XB
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Q2 v 71T Aal & ®WAE & fow §a® 39gEd Uueg I+

X3 At
Heat
. FEA

Seasons

Q.23 Ru 717 famest # & W WEET UG- F ATA HL
GERIr:S

Select the option is which the two words are related in the same way as the words in the
given pair are related.

Rapid : Slow
Ans ThedlLHATCT hlal
1.
Stop : Cease

x 2. m m:aﬁ &l
Wait : Remain

v FSTAT TICTAT

Increase : Shrink

AT ST

Stare : Peer

X a4

Q.24 FASACHT AW 3 IHeTdci! WG 1 AV FedAA SH3a1 & del Trcted ewtcll
e

By how many atomic mass units do subsequent members of homologous series differ?

Ans X 1.26
X 232
<320
V14

Q.25
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Ans

52 m Fars £ 15 O o2 B NI F 7@ oF TE 7| T °F B FAE
fararet @t 2

15 small rods, each of length 23% m are joined to make a big rod. What then is the length
of the big rod? ‘

X1 349% m

X 2. 349% m
Vv 349% m

X 4 349; m

Q.26

Ans

o Afow & #a @ oewd Re s Fuer 1 awqoh seeror & 8
FU:
IO TS TSR AT &S A el H Gy 9y e IS @ v g
s

1. a1 Tasranadt § gy @l Fw & foe gferw #r weg &)
2. g A e e 7 ferandt #r e A1 e F v Fo e
JEfeq & S aifgel

Decide which of the conclusions logically follow(s) from the information given in the

statement.

Statement:

People are often seen selling things on the footpath in busy market areas.

Conclusions:

1. Take help of police to clear the footpath from these vendors
2. Some place should be allotled to these vendors to sell their goods without blocking
the footpath

e A 1 HegEtor F §

Only conclusion 1 follows
A a1 3R 7 & 2 e FaT

X

x

Neither 1 nor 2 follows

e TS 2 T FA §

| Only conclusion 2 follows

1 3R 2 A=t Hegeer 1 &
Both 1 and 2 follow

x

v

Q.27

Ans

6084 T FeNHE fohctel 87

The square root of 6084 is:
X174
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X282
X376
v 78

Q.28 T FoATE H, T UET T Sl G341 T GHL WY foherelt ST THBIOT ST 87

In a week, how many times are the hands of a clock at right angles with each other?

Ans X 1. 44
X 2.154
X324
v 4 308

Q29 2018 & TfAUE Wil H AFTTAT FIA T 32U HieT TT &7
Which country is going to host the 2018 Asian Games?

Ans x . iﬂﬂ'
China
ST

 Japan

v &3 E

Indonesia

X 4. Zfeyor i
South Korea

X2

Q30 T x2 - 6x + k = 0 FAMAXATH x = 2 ¥ AT HqF B &2

One of the roots of the equation x® - 6x + k = 0isx = 2. The other root is:

Ans o1 x = 4
X2x=-1
X3x=-4
Xax=1

Q31 fFH YR F Toielel ¥ 3110 faferar saea g g ?

Which type of reproduction allows for greater variation to be generated?
Ans CIECREICED
X1
Binary fission
x 2 AT Tetetet
Asexual reproduction
X 3. ag
Multiple fission
v ATF Tt

Sexual reproduction

Q.32 77 o1 ¥ O Four Bt W f5® 202 F F T W v 90T 39 9 g @
The least number that must be subtracted from 202 to make it a perfect square is:
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Ans 1.6
<210
X38
X 414

Q.33 t&F &3 &, af PEARLS & 823745 foram airam & #X JEWELS &' 926245
for@r ST & ar =@ wig # WEARS &t &3 foragr smeem?

In a certain code, if PEARLS is written as 823745 and TEWELS is written as 926245, then
in the same code, what will WEARS be written as?

Ans of 162375
X 2.62573
X 362735
X 462374

Q34 &y 712 AT % TR & o Wy 39gFd U |

i [ B

Select the most appropriate term for the given set of items.

L]

7

e TaRersuTeR®

x5, R
Rubrics

o O

Mathematics

Q35 U T FefUd 13 & HUR W Afedd oeg g+

wzgﬁ’i%‘mmw:: v SN -2

Select the missing term based on the given relaied pair.

DL ,;’- N
w : Kennel :: /HJ'JI :?

Ans
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x ., T

Shed

Q36 grefy & ZaRT FW T TG TEIAT AT Tl FAT Fgolal 872
What is the upward force exerted by water called?

Ans 1 W orffga (Gravitation)

Gravitation
Helcd

' Density
3ccolldeh §of (Buoyant force)
3

X2

| Buoyant force

T¥oT

Friction

X a.

Q.37
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wedATaES Y g WEr HHlT I

Problem Figures:

A B C D
Answer Figures:
/\
- *
l 2 3 4

Problem Figure - @&a@ar =

Answer Figures - 3cal HTpfaar

Choose the correct figure that replaces the question mark.

Problem Figures:

A B C D

Answer Figures:

l 2 3 4
Ans X12
v23
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X34
X a1

Q.38 3 T arareh @ ufary HTer &Y 3r v ar suer 3vHE gaa ar

ST

If the resistance of a conductor is reduced to half its initial value. then the heating effect in
the conductor will become

Ans ry
x 1. TUsh a‘lzué
one-fourth

JATET
v &3
half

xo T

double
TR AT

X a
four-times

Q.39 &= @1 MY afeligs HATT & oF THT W, FR AT F §EF Fed »
S TIHST &7
Which top Bollywood actor has bzen a long-standing brand ambassador for the car maker
Hyundai Motors?

Ans T gmn

X1
Akshay Kumar

X 2 faes s==a
Abhishek Bachchan
. AETE Wled
v s
Shah Rukh Khan
, HAHATA WA
' Salman Khan

Q40 2 BF X 3N Y vF TIF A § HTA AR U A #; X S@or H AT 20
fretHiex o & #R Y 5 & AR 15 fhelisier T g1 X @R Y F &=
T FH g gl

Two friends X and Y start from a place A; X moves 20 km towards South and Y moves 15
km towards East. The shortest distance between X and Y is .

w35 fanE
35km
. 25 Tt
25 km
45 ReciaeT
45 km
50 fFarreT

50 km

X 3.

X a.

Q41
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Ans

a4 BT =1 7o #7779 AT a7 F{ F & 7% aRomdt F F #F @
IO Mafafea 2

FU:
e a8 W T § oy g o § g I o o ¥

TROTTT:
1. s 57 H A AATT 1 I HY
2. AT T &t 9T 1Y &8 )

Consider the given statement to be true and decide which of the assumptions is/are
implicit.

Statement:
A traffic board reads ‘Speed thrills but kills’.
Assumptions:

1. Drive fast and experience the thrill
2. Fast driving will attract heavy fine.

1 Faor URUT 2 & 3aAted gl
Only assumption 2 is implicit.
x 2. 2t ot 1 3R 2 afEfa g
Both assumptions 1 and 2 are implicit.
Vs
7 ar grow 1 3 7 & aror 2 3afAfea B

Neither assumption 1 nor 2 is implicit.

FaeT UROT 1 AT B

Only assumption 1 is implicit.

X 4.

QA2

Ans

. 2 B
fFell e A o =1 Y ST oo A IR R - ¥ | g & e A o SR S
7T SHYOT Y AT (R ) a=ar geire

The length of a minor arc is%of the circumference of the circle. Write the measure of the
angle (in degrees) subtended by the arc at the centre of the circle.

X 150
v 2.80
< 3.60
X 430

Q43

S 21N U I HY 3 FHellInA GeaHRT arel g N A9Imar o §
3T cal0T Tohdal grm?

‘What will be the acceleration produced when a force of 21 N is applied on an object of
mass 3 kg?

Ans X 1.0 007ms-2
X 2. 0.7ms-2
v 3 Tms2
X 4. 70ms-2
Q44 e AftTss # = #r g et & A% FEH T 2

The sensation of sound persists in the human brain for about:
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Ans

x 11 UFs
1 sec

x , 0.2 ¥
0.2 sec

v 0.1 &%

0.1 sec

x ;0.5 ¥

0.5 sec

Q.45

| afcr
Style
CIcCap
. Stigma
x 3 37T
Ovary

v T

Stamen

X

X2

gief FT J ITAT 3T F
is a part of the male reproductive system in plants.

Q46 r=m1fdre wfarer arer TTee FT AT FHaT F1aT 872

A conductor having some appreciable resistance is called a:

Ans

X1

Insulator
Vs Sferus

Resistor

X 4. -

Semi-conductor

" Conductor

leﬁqgm’rtfr

Q.47
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5 =T A
3q=T id g’ |
2001 | 1,500 |%200 ¥500 | 2100
2002 | ¥2,600 | ¥300 | ¥600 | %200
2003 | ¥3,200| ¥150 | ¥700 | 150
2004 | ¥4,100 | ¥250 | ¥650 | 125
2005 | ¥5,000| ¥200 | ¥800 | ® 150
2006 | 35,200 | T100 | $750 | 2176

Year Items of Expenditure
Salary | Food | Medicine | Tax

2001 | %1,500| %200 | 500 100
2002 | ¥2,600 | X300 | X600 %200
2003 | ¥3,200| %150 | X700 150
2004 | 4,100 | 250 | X650 125
2005 | 5,000 | 200 | X800 150
2006 | 5,200 | X100 | X750 175

Qp (16).html

a¥ 2001 : 2006 ¥ R, T H HqUA © Sy I =T F

The ratio of salary : expenditure per year during period 2001 : 2006 is

Ans X 1.71/108
X 2.71/105
X 3.105/71
v . 216/61

Q48 = 3 g AT -

A bank always has a/an:

s TTETIRE

' Account holder

Locker
x 4 TELTA.
ATM

Q49 P, QiR R WUy §, S srar A ws ds & Faw: Rewat A, B3k caHr
e 2ar g1 I P, Q 3T R 3@k 3oy Ao g1 9T el & ! HHLT: 30
e, 20 e 3R 10 e # sR wea &1 o T el 2T & 3t wehr =t o

Ger o3 st €, o 3 e ane 3 3 freraer ¢ a7 31agard aran g

P. Q and R are channels which discharge solutions A, B, C respectively in a tank. When

the tank is empty and all the three channels are opened what is the proportion of the

solution C in the tank after 3 minutes, if the channels P, Q and R can fill the tank from

empty to full in 30 minutes and 20 minutes and 10 minutes respectively when they are

opened one at a time.

Ans X1~ 6
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Xz.i
11

X35

J4.£
11

Q.50 o FAROT ¥ + kx + k = 0% HA I @1 A k FT A ARG F X
FT grem?

Ifx? + kx + k = 0 has repeated roots, then the value of k will satisfy:
Ans o k<0 k>4
k<Oork=>4
5 Hack =4
k=4 only
3_1{ =437 k =0
k=40rk=0
4.0<k<4
0<k<4

Q.51 T angsit F ¥ Fa W O IRRA FANSS W Ag F AT FIA 2
Which of the following metals displaces Iron from Iron Chloride?

Ans XL m

Lead
a=

Tin
TEY
Silver
STEAT
Zinc

X 2

X 3.

v

Q.52 fFel @2 g & ot o fiF oI Pogsr 80 wom @ @ad e § B o
AT sm AR R am s w e s
o ¥ At o Rt & awet & @ AR AW a¥ Fag & aww F
g = g

Three triangles are marked out of a bigger triangle at the three vertices such that each side
of each of the smaller triangles is one-third as long as each corresponding side of the
bigger triangle. The ratio of the area of the three small triangles taken together to that of
the rest of the bigger triangle is?

Ans X' 1.3:1
x<21:3
X31:9
vi1:2

Q.53 =i ercredy 1 g H, e A # Us Ol I AAST FINT T
o am|
At the beginning of the 4*"century CE, the Guptas established a small kingdom in .
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Ans arardr

X 4.
Malwa

Q.54 R Tar ¢ Fweh X # o A Afemt & dtwa e amm afar 4

5w it Afgensit 1 siwa o 3w & @9 & I e W T 1

Multiple Bar chart showisg men's and wemen's
Average Daily Farmings

(in Rs)
[7] = Men (21 yesrs and dbove)
= Women (18 years and above)

Average duily
Eamings (Rs)

geut 3R afgenst $r stwa o T (v #) ax W F i §
oME F T T T (21 3§ A W 3#0%) T T Taes Afgonst
(18 a¥ 3k s 3Rw) & A &= §

The chart shows men and women’s average daily earning in company X. The difference

between the average daily earning between men and women over the successive year is:

Mskiple Bar chart showing men's and women's
Average Daily Eamings

of e Men (2 yous s o
Y = Women (15 years sd sbove)
Ly 569
e B Ol !
| lu
> Yeu
Ans
T wE
Qfl. :
increasing

X 2.
S, FeRT-37eT a¥ H 5 AT aT W &

both, increasing and decreasing in different years
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X 3. %
equal
X a4 He %

decreasing

Q55 wagﬁﬁ:ﬁmsﬂa%l

is a multicellular organism.

Ans - @I{wE
v
Agaricus

TIASEFET

. Cyanobacteria

ATSHICATSAT

| Mycoplasma

x o, TR

Paramoecium

X2

X3

O mfaTe F IFERT & AT A TgAT
Identify a use of the isotope of uranium.

Ans
Xlla?ém?ra;rmn

Treatment of cancer
x> gars e 7 gue
Fuel in aeroplanes
, UY & 3TER
Treatment of goitre
| SR ot & sue

Fuel in nuclear reactors

x

v

Q.57 wEY 2018 # 2T WW ¥ W F FLWN Rhu HWIAT? FAE g T 2T
Fewedr wfide (dvew) ¥ s O

As of February 2018, who has taken charge as the Chairman of the Tata Sons empire,
before which he was the CEO of Tata Consultancy Services (TCS)?

Ans e, TERIER

X 3.
Nandan Nilekani
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4 ]
Bhaskar Bhat

Q.58 39 A= H, 3ANFT i TH THT THT € T B ATETFIT wF AT
FEg (HroATE) #r FSART Tenier TH SR §1 399 =29 T1H 87

The Center for Medicare & Medicaid Services (CMS), a federal agency in USA has an
Indian as its current administrator under the Trump regime. Who is she?

Ans xllawurrﬁlm

Seema Verma
X 3. (TIel ”E"“
Rachel Paulose

, 9fAeT SIare
Pramila Jayapal

x

Q%9 qrefaTerrdt #t fFaess w7 & gl rarmar
Parthenocarpy is defined as:

Ans x 1 o= & gy 8 F fFerw

Development of root with fertilisation

, Torsrar & ey welt & farera
Development of fruit with fertilisation

, ot & o <1t & e
Development of root without fertilisation
, Torsrar 3 foa it & Forrre

Development of fruit without fertilisation

x

X

v

— A
Q0 RTIMT mAaR AR A AT s F T s A s R a
F T T T@TT B
e F OTE H For AwAT et g2
P

1. SIXFTHFMEF IR 157 8
2. SiXFTiF TR A T T 267 81

Consider the following question and decide whether any of the statements in the
given statement are adequate to answer that question.

What is the total number of students in the class?

Statements:
1. Mr. X’s rank was 15th from the top in the class.
2. Mr. X's rank was 26th from the bottom in the class.

Ans ’1_
9 F 3ea¥ & & o 1 3K 2 = Beet garea gl

Both 1 and 2 together are sufficient to answer the question.
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X 2.
HFY 2 gUeT ¥ Fafk T F FeaT o & AT FHS 1 9T FE g

2 alone is sufficient while 1 alone is not sufficient to answer the question.

X 3.
P 1 ST § FalF TR 7 IeaT & F AT 3P 2 qHeT 78 g

1 alone is sufficient while 2 alone is not sufficient to answer the question.
X a.
T &7 3ca¥ &aF & fore I ar 1 I1 2 gared 2l

Either 1 or 2 is sufficient to answer the question.

Q.61 Iz T FF R T TN 1 A T 14,000 A AT §1 AR AT FT T 12% &, &
T gE AT T

The price of a Television is ¥ 14000 inclusive of VAT. If the rate of VAT is 12%, find the
basic price of the Television.

Ans 1. T 12,000
X 2.3 13,000
v 2 12,500
X 4.T13,500

Q.62 el vk o7 A THRNGIG fhU &1 dha Al sadcia N ean e by
A W I F: &

The maximum number of electrons that can be accommodated i a shell depends on the
formula:

Ans i 1. 2n2
X 2.2
X 3. 1n2

X 4.3p2
yF o« N 3

Q.63 =z O ¥ B FEar AT Hfsre fSww 1875 Fi fnfsa :@ W s oy st wreg
ATl

The smallest number by which 1875 must be divided to obtain a perfect square is:

Ans }(1,5
X22
X37
V3

Q.64 =i o 9T 9RAT srhured Usrenfar F onfPrer & wrar wn 3k 3@ ofRaw
ST TR & Rca, arfoew 3 3@ &5 32

Which famous Indian economist joined politics and is now the Finance, Commerce and
Industries Minister of the Government of West Bengal?

Ans X1 sifaarer féa
Avinash Dixit
o, W et
Sovan Chatterjee
o, FShe dersi
Abhijit Banerjee
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" HfAa A
Amit Mitra

Q65 HiFpRE F TEH WA H fFax FaST soag g 82
The number of valence electrons in an atom of Phosphorus is:
Ans X' 1.4
X23
X352
V5

Q.66 TF W eaAYEF AR HY AR 3FF IR W & M Ry a1w sgamt &
& Pl @ sEA ARa 3R

a:

Tk AT & 39 I F Follg &Y fF Aeads @ HellY gk H W BT &
e & g 8

AT

£

1. ¥T FeAR A =A@ B

2. far &7 T &I Welg a1 &1
Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
A father advised his son that the shortest route between Chennai and Mangalore is via

Bengaluru.
Assumptions:

1. Son wishes to go to Mangalore.
2. Father gives advice to everyone.

Ans xll;raﬂaﬁtaé‘rzf?ﬂ%‘a%

Neither 1 nor 2 implicit
) Faer A 2 fafea &
| Only assumption 2 is implicit
) Faer A 1 fAfga &

Only assumption 1 is implicit

4‘1341122‘1;!’? fafegg &

Both 1 and 2 are implicit

X

v

x

Q.67 A X T Y ¥ qr 7 AT T &1 A A X FFE MG MW A A ¢ AR 3% Few g
Y & T & A X W FA Y T

Mr. X is the only son of Ms. Y’s grandfather. If Mr. X has no brothers or sisters and his
father is Ms. Y’s grandfather, then Mr. X is Ms. Y’'s .

=3
X1

Father-in-law
=TT /ATAT (G HIGT /A

Ans

X 2.

Uncle
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X 3. BTy
Brother
o ar
Father

Q68 offFa Hr SIS F FAT gl AT &

A unit of power is called a:
Ans =i

Q69 Rl 7 & a¢ W BT g
Delhi is located on the banks of river

Ans THAT
vi 2

Yamung
FrEr
Kosi
e

' Gangotri
THAE

Yamnotri

X 2.

X3

X 4.

Q.70 57 AT &1 999 L S MN R AR 1 W@ I W T e F md B R s
R Farg

M

&7 |

N

Select the option that depicts the correct mirror image of the following figure if the mirror
is placed at MN.

&2

2777 2
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X 4.

Q.71 ¥ H{T AN & gl & F T N oAl "haT §, S Aigem @erfardeRor W
Hiea &2
Which union minister recently launched the NART portal which focusses on women
empowerment?

Ans x1mm

Uma Bharti
x 2 e daraa

Nirmala Sitharaman

;T ST

Smriti Irani
v AAeRT medt
Maneka Gandhi
-— e v
Q.72 & 71v a7 INT F IR, 3N @ (non-athletic) HR sepenfea
(disciplined) @Tsat #r Fer TET gl
- ) I\

[l — Boys o — Athletic

/N —— Gale e Disciplined

Boys - w5% Athletics - Rem& Girls - @r3f3war Disciplined - sepnfaa

According to the given Venn diagram, the total number of non-athletic and disciplined
boys is

] — Boys () — Athletic
A ity [ ———e Disiplined
Ans X 1.28
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X 21
<320
v 210

Q.73 ¥ AoaTaA HfAAar it O] foew Fear er & fow o8 asdrr
QR 9IS g3 82

Which Malayalam actor received the Special Jury National Award for the Telugu film
‘Janatha Garage'?

Ans ?m
X1

Prithviraj

- ger iy
Suresh Gopi

v Ag oIl
Mohanlal

x o T

| Mammooty

Q.74 aae g¥Ur # F@ IFG F IAd W @ A g, A o q@-
In a concave mirror when the object is placed at infinity which of the following applies to

the image?

Ans X 1.
THAT & &g (C) W T & HFR H aEdafas, o8t ofT
Real, inverted image of the same size at centre of curvature (C)
v
&g W AEAlaF, 302, HADF FHiad ofd

Real, inverted, highly diminished image at focus
X 3.

FHAT & Fg (C) W AFAaH, 362, Feaow 7 g o

Real, inverted, highly enlarged image at centre of curvature (C)
X 4

F&aT Fg (C) 3R =T ww (F) & €9 awafas, 35, Fgta

Real, inverted, diminished image between centre of curvature (C) and principal focus (F)

Q.75 e g ARy 4 kmihr Y AT A FASAATE AT I ToEME 1 B Gger gE A gl
T TF 31T AT TG 5 ke/hr T AT &, 70 88 3T Yo 24 fAe vger g
S 1 3 A e & T AR & 77 Feoe W T W GT T
A man misses a train by 1 hour if he travels at a speed of 4kmph. If he had increased his
speed to Skmph, he would have still missed the train by 24 minutes. At what speed should

he have travelled so that he reached the station exactly on time?
Ans 2 1. 8kmph
v 2. 6kmph
< 3.10kmph
/< 4.12kmph
@Teacningninia.in
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